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SECTION—A [/ F—14l / —>4l / &—argrn [/ &H—9r1

Choose the correct answer :

R TE00! AR Tfere

7 TEAi ([{0R e R0
s R e figd él%
HEl SW gfiu .

1. The value of y in the blank space of the following table is
T Sl 1A 912S yq T 2]
N ORISR y-«F T =J
TR Hes it S y 1 7w s m :
= = arferent & @reft TH y 1 A B

x 1 2. 4 8
3 32 16 8 —

@) 8 | ®) 6

(C) 4 ' m O\

2. Which of the following is not g perfect square?

T (FIFCH! IR 72 2
e D st 2 | E‘%}"ﬁ
Ty A = SR T B
feferfaa # 8 PH- =t de 75 47 \/
(A) 441 < /
(O (D) 729
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3. If mis the cube root of n, then the value of 7 18
/,/’Jﬁ m, N NN W, (S8 n 3 A 3°3
o

% m, n-9q IV =2, ORH n-q W 3@

/
R m, n T @, st g, fy e A Jp
Hﬁrn,rlmw%.ﬁnmmﬁm A
&) vm B) ¥m <

o
er (D) m?

4. Given that the LCM of 306 and 657 is 22338. What is the LCM of
102, 306 and 6572

fl W= @, 306 W= 6577 =157, 22338, @yl 102, 306 WF 6574
A8, 399

(TS Sz (¥ 306 4R 657-«3 737, 22338. 102, 306 992 657-<F
AM.8. T30

T € & 306 I 657 f
657 T 3.3, W W e

306 3R 657 %1 LCM 22338 | 219 102, 306 3R 657 =1 LCM =rm

(A) 102 (B) 22338 FC-

(C) 223383 (D) 22338 %102 <
5. Given two statements : :

3.3EL A 22338. qMET 102, 306 AR

Statement (i) : The squarer of any positive odd integer 2k + 1is
always 1 more than a multiple of 8.

Statement (ii) : The square of any positive odd integer 2% +1is
always 1 more than gz multiple of 4.

@%ﬁmw: ;
Tfs ) s LRI IR LD R | 2k+1%3ﬁw 83 @ﬁ'W\?Zai
l ‘
W (i) % A FRAT 2k+1§nf5:a I 47 sRrewee
7 Sz C‘?WW’;i | | '
e () - S 7 R 2k+1—~ﬂ§: VT 8- wfirew (s
e (i) . :m;;‘slwm O 2R+ 17 2of sty 4-97 sffes o
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g () -zﬁﬂwﬁaﬁ’ﬂ s 2k 41 weifr e Sl 8 f
e 1
— SR 2%+ 1 Ty wlen SwerE) 4

e 1 TR | 5@%@
2 YA g e 2 i

FH (i) : s R T 2+ 1 1 1 g 8 % o § 1 et

il
W%Wwﬁ2k+lwﬁm4%wﬁlﬁw

il
Choose the correct alternative.
- % RFweo! AR Sfered |

Wy e @R Ae I

T @i qEe A

& fawew gim)

(A) Both (i) and (ii) are true A
(i) == (ii) TG o)
() 9% (1) 32979 Em
(i) =M (ii) AT o) #E].. '
(i) & (i) AT T §

(B) (1) is true but (i) is fa]ge
(i) 379 92 (ii) Py
(1) 3T 753 (ii) Wpygy
(i) T 9T (5) 377 <y
(i) 99 & oifm (i1) B

(C) (i) is false but (jj) ; \/
N By 18 true
(i) w1 5% (i) s
(i) =1 Ee|p| EIPID] (ii)‘

: ¥ o

¥ (i) ¢

YA (i) :
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(D) Both (i) and (ii) are false
(i) S (ii) TR 79
(i) @R (ii) 7o pTey
(i) 3 (i) A== FE@H
(1) 3R (ii) I 3WA &

6. Under what condition will px3+qx2+rx+3=0 be a cubic
equation? i .
ﬁSF\D’—\opx3+qx2+rx+s=0ﬂﬁmﬂﬁlﬂ‘li’a? ;El%
s px3+qx2—|—rx+s=0 315 faare A 203 2
T TEEEE pad + g2 + rx+ s = 0 3 AHY Tk GHHATS STH?

5 T8 W px® + g + rx + s = 0 T FrEma s g e

(A) p, q, r and s are all non-zero

p, g, r IR s (AMCHRRR PP
D, g, r SR s SRR
p, g, r 3 s TES ATMUE T

p, q, r 3R s @ft s BTN :

(B) p=0and g=0 /
p=z0qF q=0 :
p=09Rqg=0
p=0AW g=0 ﬁ
p=03Mg=0

(C) p=0org=0

p=0dqg=0
p=0dqqg=0 : E,q
p=0Taig=0 OIS

p=03qa@g=0

m:o
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3 41
i jal 8x
/1 ubic polynoml
. When x is real number, the graph of the c poly

3 _1 fyre I27MCbH GRS
| Farre TEomfoa @
1m%mavﬂa'rﬁahwafrrﬂm

i x AW SR 2, (903 8x
3 x R SRAT W, ST 8x° —
ﬂﬁxm#ﬁmﬁmw,MSx3—
Hﬁxmm@amﬁmﬁwé,ﬁﬁmagﬁ&3—lmw

(A) does not intersect the x-axis

X-FF (M 1P

X-S[HCP (R A Al %
x-TfE ETErEY g’

x-318 ! Widede TE HT B

(B) intersects the x-axis at exactly one point
x-S TG 961 ez (w7 q '
x-S A G Rees @
xR T W R T
-3 I A T g T & e e

intersects the x-axis at two distinct pointé
X-IRE Wl (@ R (o 3

(C)

B24-GM/102A
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g. If the ‘pair of linear equation$ a1x+3y+C1 By anC
4x + boy + c2 = 0 has a unique solution, ther S
ﬂﬁa1x+3y+c1—0W4x+b2y+c2:0 g (4 ik
FYE AR, 503 A
"TﬁalJC+3y+Cl—0 @R 4x+b2y+c2._0 W‘TW P IECIE!
S AT, O
'ﬂ’ﬁ a1x+3y+c1—0 I 4x+bzy+c2:0 qaAAATR S -ice Rl
TEFAE 9E, A
aft apx+3y+cg =0 K dx+bay+eca=0 g T I
e & 8, dl /
(A) a; =3, bg =4 E%ﬁ? B) a;=12, by =1
(©) a1 =4, b3 =3 o (D) ay =5, by =1

9. The coordinates of any point on the x-axis are 1
2-ope o {31 Rl (I R TR 29 /

©-ICEE T AR (A Al A ERRS =
x-@ﬁﬁ@ﬁmﬁmawﬁammﬁfqﬁﬁmﬁmw 5%
-2 R et ot Foreg 3 fore FEieh M [ 3

,(A((x, 0) (B) (0, y) :

L) (x, x) D) (x, s / e
10. The sum of the zeroes of the »

px)=4x% -1 is quadratic polynomial
IS oM p(x) = 422 — T4 FUCHRIR lonpey g BIRELE
e F=em p(x) = 422 —1-99 *[RfR QIFen 2 ﬁ%
ST feRTa p(x) = 4x2 117 Wﬁ@’qﬁ‘ﬁ'

SIS Sty

ﬁme(x)=4x2—l%Wm%m

i e,
; 0
C) 2 D) 4 ‘/?
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8. /32 is
11. The common difference of the AP ﬁ’ \/g’ JIS’ J'
V2, /8, VI8, /32 A 2IfeCo A S

V2, VB, VI8, V32 srren sisfefba sTemel Mol

V2, V8, V18, V32 wrigfr Smfufy smive s

FAR A V2, V8, V18, 432 % w3k B

(A) greater than the common difference of the AP 2,4,6, 8

2, 4, 6, 8 W 2B STHRY SETSLF Tleq
2;4,.6, 8 STIEY 2sifeiba S 2ty (AT T
284 6{8%#@%%%%
TR 3 2, 4, 6,8%141&34?(@331
ﬁ%qual to the common difference of the AP /32 ; \/ig, NG
; @,Jﬁ,ﬁwmﬁoﬁwmmqwaww
V32, V18, 8 >mmn aﬂ%%qmmqmwvmw

difference of the Ap 1 R
1 1 e V2
=0, TEW aﬂﬁommmquaswa
1 =
) 0’ =
el MBI eoifefty TR #fyefapy (AT T
=1
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12. If the base of a triangle is increased b 10% @1
decreased by 10%, then the new area of the triangle 1
<o faged 3R 10% oz fan 2'a R 2> 10% 2 a1 24, e
faswcoR g T .
a3 faerm o 10% A cwemmm{%ﬁf% 10% 2P 41 2,
oA faoaity g CRIF
R TR g 10%ai-a=rrqwmﬂsﬁm@ 10% @9 T
e[, 3Tl ST e st :
e e 1 3TER 10% =i e T 3T SR 109 w1 & | Fgst =
S
; (=i [E] L
i Ay remains the same "%:% (B) decreases by 1%
O = a7 A , ?0 1%E T
\Q\;Q 32 AT 1% 2P AT
T AT . 1% EHEHE
FEL W : 1% w2 ST
(C) increases by 10% - (D) increases by 11%
10% 3fed . 11% A3 /&
10% @i E e 1o
10% =g S %Ei 11% &g ST
13. The point R divides the line segment AB, such that AR = _?: P
The ratio in which R divides AB is 4 1
R fagbica AB (RAHE? GECA 1% FR A 3
B ik ZAB =z | Ra AB
15l 4] SATSCH! 29
R firfs AB caersfbce ST S 9
e AR~ 3 AR =1 R~
AB (3 ol 41 SEereft 29 4
R fadien AB gi@@i<d e e ey
; SR AR — S AB !
R a1 AB @ amer @@ T S i
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14.

B24-GM/102A

¢ 10 ))

3
R%M%@aﬁwmﬁmﬁﬁm%ﬁﬁAR=zABﬁHT%lRm
Maﬁﬁmﬁammﬂﬂmm\/

5 3:1 » 9 @ @ 3:4
(©) 4:3 @% ©) 4:7

P(—1,0) is the centre of a circle and @ (2, 4) is a point on this circle.
Three other points on this circle are

P(—1,0) <b1 357 3% AF Q(2, 4) JIVR ¢*[S b1 7 | JSBA S*[e
4 T fof e RYER I«

P(-1,0) 930 3097 (7% R Q(2, 4) Jed T 36 Ry | 3afoq Toeg
P(—1,0) 9F8 @A i o Q(2, 4) 3N s&f 9 amE wee fa=)
ST qEE 4R T AHem fa<ien sEe

P-LO) i mmdmt s v mfRa gt v =
om 97 o1 fag €M -

(1) (-6, 0)

(i) (=1, 5)

(i11) (3, —3)

iv) (0, —5) | B
Choose the correct alternative. ;E%
w4950 AR ey |
W% s @z e |
& @I g A fagm
wel faseq gfiw)
(A) Any three of the above
499 R e sy
SR (A I oty
3T H @ HE

[ Contd.

-



&

M (i) and (iv) only
g (i), (i) =< (1v)

19 (i), (i) 9% Gv) 74
i), (iii) 3R (iv) 3T’ ,

Faa (i), (i) 3R (iv)
(C) (i), (i) and (iii) only
® @ (i), (i) == (iii)
g (1), (i) @3k (iii)
(i), (ii) 3 (iii) AT’
Faa (1), (11) AR Gi1) 0<
(D) (1), (iii) and (iv) only
g (1), (ii1) == (iv)
g (1), (i) @R Gv)
(i), (iii) 2 (iv) 3T
¥t (), (i) 3% (v)

15. ¢ longest chord of a circle is called
7aT THIRSLE Aqe WOET (1l =

J03A AT T SoIoCe I

e i TR el S{ET i el A @

(A) radius (B) rare
Eiea 1 o
Y Brot
ERCICH
EEER|| :TR?

Weter .’ (D) Major arc
a4 T30 Broy
awEE 30 ore
Yy il (E"tll

M
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A P 1
16. If 5x = sech and S: tan0, then the value of 5[x2 _x_z] i :

1 ;
‘Qﬁ5xzsec0m$§=tan0®,C@CG5[I2——2]?TW§?I (=] E.
X X %‘i ‘
5 ot |
T 5x = sech g2} = = tanf 2, O 5[x ———|-93 9 T3

X x2

§ﬁ5x:sec93ﬂﬁ§:taneﬁmﬁ, W5[x2——1§]ﬁﬁﬂ13ﬂ’ﬁ-‘1’
x

X

X
/

o

'p afe bx = secﬂaﬁ“{éztaneﬁ, ?ﬁS[xz—inWWEﬁ’ll
x
A) 5

1
e (B) =
()5

(C) 0 S5 E (Dr—1
B

17. If the length of the tangent drawn from a point @ to a circle is

4 cm and the distance of @ from the centre of the circle is 25 cm,
then the radius of the circle is 1

Q IR 1 b1 J&1 ~o{IUeT oy 24 om WF TEHH @A o
W25cm§’mmml{§’a cm Qﬁ?

Q R (% <M a0 =tz 2 24 om w3 33
7% 25 cm 2 739 AP 71 o= T TN T

Q R A S R e ifye gy oA 24 TR TR
T Q ot semgen 25 cmm,éﬁ?ﬁﬁ’@masﬁn;

Q T3 & v v # wpi.
25cm%l§ﬁ@rﬁmﬁ;§§§,ﬁ@ 24 coof SN TISrANPHARNE <0

Mgm (B) 12 cm

o (R (D) 24-5 cm

, 4
b B24-GM/102A
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: to end, then the
18. If two cubes each of volume 64 cm® are joined end 1
curface area of the resulting cuboid 18 o k.
b | ©
W64cm3wﬁﬁ§@1m-{m{@ﬂ@ﬂﬂi et
TS TR I 2T
w2CE S
oD 64 cm3um@ﬁﬁﬁgﬁwmﬂmmmﬁ@ﬂﬂm 22
@ Pered (RT3
7Q SRR TS 64 em® AT HEA Seezell Sraforsii S HIATS T
S, Sy AT ST ey forg Zeeg ST
2 T, S F ST 64 cmS%lqﬁaﬁaﬁ@r@-@i@wﬁmW,
A ot ST g & B
(A)°160 cm? E‘%ﬁ (B) 176 cm?
OpEs B
(C) 128 cm? sz >,
19. If the median of the data 25, 30, x +30,35+x, 40 +x arranged in
increasing order is 35, then the value of x is 1

biin  waalE 25, 30, x+ 30, 85+x, 40 4 x3 T 35 2,
X3 IF 23

x-9q q4 2¢4 |

aﬁmwmﬁqmmmﬁ@ﬁﬁ TS 35 STteer x fy 1 T
95, 30, x+30, 35+x, 40 4

v i wrafir 3R 25, 30, 30,364 x40 Loy 2
’ Hqegek 35 &l X

&1 HE B E¥E

(A) 35 WA (B> o

(C) 25 2 (D) 10 \/
B24-GM/102A -
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20. The probability of getting & prime number greater than 2 in a

single throw of a die 18 1
B ol @ MR 290 TG CERE TR o i) 2’

GFB e G §OP TRC 2-99 (W0 IT Qs 2 o1eqE SRy
36

T Tz ge g 2 Bz T a st gemfy s
STTH '

T T 1 T SR e T 2 B AL AT T W 2 A i B

(A) 1 / ®) -
=

-

Ot }D‘-(;/

(C)

o | O

21. .If the area of a trapezium is 1350 m?2 and the sum of the lengths of
its par-allel sides is three times the height, then the height of the
trapezium is 1
o] @Fﬂﬁiﬂmﬁﬁwsoﬁw*@mww%wm
fefie 2’231, Twe 3’

i BfRRTE s (it
: %1 1350 m? @33 @9 SNEAE AL

AL ]%q@q e m s R 93feg J A3
T 2 ffemy

i TR 1350 m2 amy afy fom s GIERIHE
ISR SN e ST Shergan SE
UF A IRy
i 3 %Iméwﬁwsomz%umﬁaﬁmgmaﬁmm

T &1 sy T By
(A) 20 m \/ E¥E
(B) 10 m 5.., '
(C) 60 m ik
_PT730 m
B24—GM/102A '/
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‘o divisi 4, 9 and
22. The smallest perfect square number which is divisible by
10 1s

4, 9 U= 10@i§q¢ﬁamuﬁmwﬁaﬁmmﬂ
4, 9 @ 10 e w151 91 7y A AT (=BT #4efsf R 2

4, 9 3 10ﬁmmwﬁqgg§%qa@aﬁmmw
7A 4,931\(1013%116&@\2%37%#@1%

[ -
(A) 144 (B) 900 (C)~3600 (D) 360 Q\
23. If the sum of the zeroes of f(x) =

kx2l 8x 46 is 4, then the value
of % is

3fi f(x):kx2-8x+6a*mm4®, (S k3 9 37
v f(x)zkx2—8x+6-u‘1§‘1Z?{T§’Nﬁ 4®,mk-q§mm

e f(x):kx2—8x+6ﬁﬁfﬂ@’ﬁmn§mliw, S
Eiuici

zn%:f(x):kx2—8x+6%¥ﬁﬁmm4%,ﬁkmmm

% ®
(A) 6 )w/s ©) 2 =
(D) 1 c\
differ

24, If a quadratic polynomial has two
ent ze
; © 8raph .f t roes, then the
Intersect the x-axis is

Number of points in which th b
© Polynomia] wi]l
<1 TS T i 1 om0 @

;R 9a %x_m@wﬁwﬁ
%;memaﬁﬁawm@% ‘
=3

Fouy o, x\%WWﬁ“ﬁﬂw
ST ferraniia wfif TR

-1 E@m’mﬁﬁﬁmﬁm%ﬁq S’ TRfleen =) ;

% faam ¥ @ fm I §

b s T

JC‘@WT Eﬁ] 1\3335[ ﬁgaﬁ W@
% (B) 3 ()

1
\

i
;

KA\l al
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25. Which of the following equations is a linear equation in one
variable? 1

wote il HRFLAREAF (D1 Bl oS Cf ANt 2
N rem SRAehR @D 9 oS (Al ARea 2
RS B FHHLTEHRI A8 T8 W] 41 gi@is i aamE?
fffiaa ot & & v = T e a2

(A2 — 3 (B) x2-3x+5=0 B
(C) 3x+y=0 / 3t+7=8t—-2 A

26. The pair of equations kx + 2y = 5 and 3x + y = 1 will have a unique
solution if 1

kx +2y=5F 3x+ y =1 (AT FNF (TR G5 A4 A(F3 T
kx +2y =5 @ 3x + y = 1 (AT NI (AITE G SN APE TH

kx+2y=5 IR 3x+y=1 FEIN THRLRE ST TGN AEHAZ ARTH

kx+2y:5ﬁﬂ3x+y=1ﬁmm0ﬁmmw@‘ﬂ,ﬂﬁ

(A) k=0 (‘B/k==6
C) k=2 \/ D) h=3 /

27. The number of roots of the equation (x +2)3 s/ 1
(x+2)° =x *4WWWS{=W§;{
et = AT oo v o
(x+2) =x —4W¥nsﬁﬁ;ﬂﬁ S
(x+2) =x3‘4wa”ﬁ'ﬁﬁm€ﬂﬁ
i el ©) 4 M
p24-GM/102A /jz/
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28. Which of the followmg €Quations has two real and equal roots?
O (IO %%@TWWW:@W‘?
Rl SRRERIEE 5 B, R S Y1 R 2
TEHH JTS Famenefy picE T W wqE ey 27
ﬁw%ﬁaaﬁéﬁmﬂﬁrﬂm%ﬁmﬁmsﬁtw%%?
Y= T 5 (B) 4x2+2x—-1=0
i /
29. In an AP, the first term and last term are 1 and 11 respectively. If
the sum of the terms in the AP is 36, then the number of termsg ig 1
\ﬂﬁWﬁﬂﬁs‘q’ﬁWWC"W%m 1 9= 11 M ST 2peferhr
TCARA ST 36 2, (908 77 e B9
I TG 2w5feq oo @R om o FRT @R 11, 3 TR 29(fefig
Tl @Narre 36 2, wrRge IO R 27
| WWWﬁﬁﬁmmmmlmﬁllﬁﬁmﬁ%
Waﬁﬁaaqﬁtﬁwnﬁm%w,mﬁmﬁaﬂﬁqmw
| k52 %%Wﬁsﬁqmmzlm‘lﬁlws}@%wqﬁm
| \/‘@r:; 2, & e v A wen
BEE (g
'l ® 5 o )7 195
f the followin —
| . ; e : :
30. 42 is a term of which o B J thmet;, Progressions? 1
| 42 SCH] worq (ICH! AT AT 9B o
| 42 3l Sy o T 20feR G o
42 S mrefy W@ @G R e
%ﬁ@mmﬁﬁwwwﬁa’n?
(A) 92, 86, 80, ... %102’ 95, 8g
(C) 2, 6, 104 D) 0, 8’ 16 (\ r
B24——GM1102A \
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31. In a AABC, XY || BC: 1f AB = 4BX and YC =2 cm, then the value
of AY is 1
AABCS XY || BC. T AB = 4BX W% YC =2 cm W, (28 AYT T
LR

AABCTe XY | BORIAB = SBA" N YC =2 cm ¥, O2C31 AY-<F

T 29

AABCanaxY“Bc.gﬁAB:annﬁYczzcmw, =t AY
HET SFTH

AABC ﬁ,XYnBc%unﬁAB:zLBXaﬁwc:um%,a‘rAYmrrna

_Eh'r" /
(A) 4 cm ; (B G
(C) 5 cm : {zcm /

32. 51 (Ci/'ﬂllf and IZN are respectively the medians of AABC and APQR
AABC ~ APQR, then which of the following 1s correct? 1

I CM <
RN & & AABC W& APQRI TN [, <
C-APRRT, (o3 oo (wich! 9% ?

qw CM 32
/A \] %, T
) esa @0 9 263°?

ELAE
AABC'f APQR,?ﬁﬁ;;[ﬁ

/ A T w27
€ AMMC» A (B) AAMC ~APRN

(D) AAMC ~ARNP

B24-GM/102A
f \‘7 :
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33, The coordinates of the point A, where AB1s a diameter of the circle

whose centre is (2, —3) and B is (1, 4), are

%1 389 TP AB. (T3 TT (2, —3) FF BT ZrEE (1, 4) T AT
I 27

oo a8 TP AB. (0 TS (2, —3) 9N B T (1, 4) T
A7 TS 2R

ﬁmﬁa@aﬁ@mﬁ.ﬁ?ﬁmﬁm(z,—&aﬁBﬁmﬁﬁﬂm
(1,4)maﬁﬁAﬁ9rraﬁﬁmmwﬁq

ABMgﬁWW%gﬂéﬁmﬁ%ﬁﬁ(z,—maﬁBﬁamﬁﬁﬁ
(1,4)%|A1%§mﬁ%mas€m

- & =‘-‘J.7ﬁ M 8)
(A) [-2—, 2] ;%
DA Q<
(€) (3, —10) D) (=23)

34. The ratio in which the point (—4, 6) divides the line segment
- Ei i ENe A6, 10) and B(3, —8) internally is 1

0

«r% B(3, —8) A @rHes SuRee w4

(_4, 6) o A (-6, 10)

SATSCH] 2

(—4, 6) famf> A(—6 10) 32 B3, —8) S @ANGE BT Al

el ZCl

e oo 10 ~8) il v wre ¥

LEDIRT RIERI S@d’ |

(—4, 6) fag A(-6, 10) e B, — 8) fag wavft T@me =1 g S #
7

fefora =8em g

: E
Dre :

(C) 7:2 /
[ Contd.
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35. If sin A = c0s33°, A <90°, then the value of A is
1 sinA = c0s33°, A < 90° =, (I8 AT T4 23
T sin A = c0s33°, A < 90° 2, 917 A-GF T 2T
9t sinA = cos33°, A <90° S, s A fA T AT
af sin A = cos33° 3 A <90° &, A A 1 AH &M

(A) 90° 5@%& (B) 33° s
(C) 27° alEct

ﬁ?\//

36. If atan® = x, bcoth =y, then the value of xy is 1
% qtanf = x, beoth =y T, (OB xy I EX|
T atan0 = x, bcotd = y 2, SR 2y -9 {20
Tg’ﬁ'atan@:x, bcotG:y'\?ﬂ?ﬁ, nyﬁmwﬁ?
Ife atanf = x, bcotezyﬁ,ﬁxy o TH B

(A) a+b \/(W -1 ¥
©) 1 B /
\
37. If tangents PA and PB drawn from a point P to a circle with

centre O are inclined to each other at an angle of 80° then the
value of ZPOA is 1

ﬂﬁ&ﬁﬁﬂiPﬁWO@ﬁﬂ@aﬁmPAWPB“ﬂWﬁWﬂ
80° (I =f# AF, (©8 L POAT W 24

afi @@l % P-93 (3 0 @@ <3 P PA @R PB =~+pioaf
=19 80° (I YT A, B2 /POA -G T S

gfe #7@ f=1 P fiwm O fig i 4w PA ¥R PB AR @) St
rEsTE 80° @I SR, 3sel1 LPOA fi W1 ST

afe O F71d T ® P fa 3 @t P o
m%,?ﬁ@mmq’gﬁ i 3 @@ PA 3R PB 80°
(4) 80° OfFO 50°
L) 70° A};% \/{\
E&E (D) 80°

B24-GM/102A
[ Contd.



¢ 21 )

38. The degree measure of the angle at the centre of a circle of
radius 7 is 0. The length of an arc of the sector is

rwdw%wmm@nmﬁgﬁme.w@wmmmUﬁfxi’a

rmﬁaﬁmmmm@ﬁmqg,qwﬁaawmmw
Be

r A EEN 98 el
AR ST

%ﬁﬁméwéﬁ%%waﬁmaﬁﬁzﬁme%lm%wﬁm

(A) T E‘% W
4y el 180°

Or
(C) = (D) Onr
270 360° /

mﬁ%@wamﬁﬁawﬁwmwwm
TG firerg | T
= W%memwmw

Wﬁgm@*“ﬁwm‘*@ﬁ#@w%
B

B) 1 LC) 9 (D)
3
40. If the circumference of a circle is 29 cm
Quadrant of the circle is 3 then € areg of
T <1 a7 offafy 22 cm W, (S0 Jarhr o X

T < raq A 02 ¢ A, O by g IR
T 22 om 2, g '3
ﬁﬁ%é@ﬁﬁﬁﬁﬁﬂ@ZZcmmfﬁwmm

e @'fy fefy smamn 0. SEEIN GEE ARt

_-

e TR e T T
e BLER
ﬁmﬁg_a_ﬁqﬂfﬁ22cm%,ﬁ§l§ﬁ%m_;@ SraE-af
%m%
e AB) 77 &
of 9 tm?2 ()
Dy W
4 Cy, 2

"B OB F B R T
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41. The volume and surface area of a sphere are equal. The diameter of

the sphere is
51 (oA ST S e A | (SIEFCHE T 23

aﬁcmwaaamwwlcmwm
ﬁﬁg@ﬁﬁaﬂﬁmﬁgmwmmg@rﬁww
uﬁ%@ﬁémmaﬁtmaﬂmmﬁ,awﬁﬁwwm

(A) 3 units Mlnits
3 9T (=] 6 9TF
3 9T %‘ﬁ \/
3 | Wﬁﬁ

1

3 7T

(C) 2 units (D) 4 uni
9 T 4 GFF
2 9 4 9F
2 FHfe 4 TR
2 TS 4 313

42. The ratio of the volume of a cone and a cylinder having same
radius and height is 1

G7F IPTY TF GF THORE 5] *F HF 951 FER TSI TS 2'q

a2 AP 972 9T THOES I F @R GIO @A AR AT
Z3

vﬁfﬁjwm@ﬁmwmmmmmw@m

R e 3 I A e v @W%WWW‘@H

(A) «./5:1 :
i
(0)117% (D) V
<
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If the difference of median and mode is 24, then the difference of
mean and median ig

O S TR A 24, (orm iy e qegHr N4 2
T QR TP 10y 24, SI5H Ty W32 TYENE o[1%f%) 209
IR TS ST TSR BRI 24, ayser ey 2R TSTHIA BRI ST

gﬁ%wmﬁwma@mmmzﬁ,ammwmw

A) 10 (B) 12 mym () 14 (D) 13
Ko o ;
) &EI

A number is selected from the first 100 natural numbers. The
probability that the number is divisible by 8 is

22 100 51 FofeE S o[ @Bl SR @Rl TA | SRAN] 8t [
@ERR e 27

2199 100 5 FreRE 201 (A0F @0 RN (S; 2c@ | A2 8 iy e
ZEYF FYRTS! 2Ce

fify B 100 fafErm sAREHER A4 AN T7 99| SR 8 5
LEEICiRiEEEIRIcEIRIBSIEIR)

REC IOOWﬁwﬁﬁ@ﬁ@mﬁﬁlmm%ﬁsﬁm@ﬁ
EQ 2

3 1

8
51 (B) = (s L
Sigs 25 MR o 705,

e

45. Which of the following cannot be the pmbabﬂity of an event?

— : aﬁwmﬁ@i’ﬁ CTIEICA ?

S s s s Tl T A

Wﬁmﬁmmwmﬁmmmmﬁ ?

s 3 4 - e 77 e

(A) 0225 i % (D) _;_
B24-GM/102A R 8
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SECTION—B / —wjxf / A—"9 / @—aTETn [ @ —ar

46. Factorise : 4x4 +1 )
T fReme w1 2 40t 41
e oy I : 4xt 1
ﬁﬁqﬁlﬁ%ﬁ'{ 4xd 4
THES T ; 4xd 41
b

% Two ropes are of lengths 64 cm and 80 cm. Both are to be cut into
pieces of equal length. What

should be the maximum length of the
pieces?

W%MMGmeswm.Wwwmmm
SRR =T | SR R R

TACE 3R “[@ I BRI *m1 cor
LR SR el R 2t 0

iﬁsaﬁmm‘rmsummasmm.zﬁcwwmmmm
W@IW@CW@W@@MWWWWW?

T fE AR W 64 em A 80 em. fﬁﬁmmmmﬁ%@
m’mﬁ@ﬁisﬁﬁmmﬁﬁﬁ%ﬁmﬂm’mﬁgﬁmw

64cmﬁ800mﬁé?ﬁﬁﬁt@ﬁﬁwmaﬁgﬁﬁmm%
ATk T3 =1 7 R | I gl i watioes wiar R g

48. If /B and /Q are acute angles of ri

ght angled triangles ABC and
PQR such that sinB = sin@,

then prove that /B — Q.

1f e fags ABC W% PQR3 /B w1 £Q TR 01 Gtemem
sinB = sin@, (908 2MI9 941 @ /B = /Q.

fi @A 959 ABC «@a: PQR-@w /B @2 /Q TR 4% <% e
20 (3 sinB = sinQ, O o9 373 @ /B = /Q.

gfe @4 srafaum ABC s PQR fi /B sm £
e sinB = SInQ, A= By @WraH 2 B ="AC)

aft /B W £Q A =7 wwm 3 AR sinB=sinQ, N wRH Hifw
/B = Q.

Q BRI W @'
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PR= 6 cm. Determine

49. In APQR, right angled at @, PQ = 3 cm and

/QPR and ZPRQ.
APQR3 @ CFITCH 90" i PQ =3 cm ¥ PE= 6 cm, (98 LQPE

/@ ~PRQ e 1|
— 6 cm, WLQPR

| APQR-a7 Q (16 90°. ofi PQ =3 cm 9% PR
| a7 /PRQ e T | E‘Eﬂ!
| [ 5E
| APQRﬁQ@'—mJT90°.§\%PQ=3cmﬂrﬁPR=6cm,WZQPR

s /PRQ &

APQRamQwaﬁm%;aﬁPQsmmaﬁxPR:scm%,ehAQPRaﬁx

/PRQ 7@ #IC

o

[ 4[]
d one grey are thrown at the same time.
sible outcomes. What is the probability that

50. Two dice, oné plue a
vs appearing on the top of the dice is 137 2

Write down all the pos
the sum of the two numb
<51 e S aﬁﬁfﬁﬁ@?‘@”ﬁ@ﬁ “ﬂmc'm“ﬁ"'ﬁwi’ﬂ | SeCetl S
gz R AR 13 IR e Rew 2

e o | 9B T
B a1 N
o e DR s
g ﬁ@ﬁjmim@mmmﬂmmwﬁm

z ey ATl F97

ST ST A

U;ﬁ 72’% ;ﬂ:a ?ﬁl gﬂﬂﬁdﬁ;ﬁ3§| ;‘gwmﬁm frfay | s
B24-GM/102A [ Contd.
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owing pair of equations by reducing them to a pair of
51. Solve the folloW

: jons :
L Wqﬁ’lﬂﬁ ELH H(EA IR STy F4l

wo1q Qg ARE
il L S S TP TS A T 3

3 Wmmg@mwmwwmm%@:

xy ’ xy

3

15

52. Find two consecutive odd positive integers, the sum of whose
squares is 290. 3

751 G S AR S R Sfeedn TR A9 ereet 290.

5 TR SRW @EIRR T4 47 (@R I AR I @eE 290.

T R TR AT T AR figd, S e g 290.
3 R T o e Qe Frepen, R @ A0 200 2

53. A sum of ¥1,000 is invested at 8% simple interest per year.

Cal i
alculate the interest gt the end of each year. Do these interests

form an AP ? If 5o, f; ; :
3 , ind
use of this fams the interest at the end of 30 years making

1,000 531 92 8 ,
fra 2’1 ﬂwq:?]w’mwﬁﬁmﬁWQal A TR TS TS

v T €@ wffqmy 51 STTEd 2ol s e 2
W,di\swﬁﬁq PR 9
looommmm?’o?mww offitet fefel 941 |
T FO 20, ﬁﬁ%%mmmﬁﬁmﬂwmlﬂﬁé«mm
3 T3, ﬁiwq@%m @ ol ol e d4afe s I 2
FER 8% Ty 30Wmmﬁﬁwﬁ¢f§m|

X .wwmmamﬁﬁﬂﬁmwvam%m
T B0 S 3y gt et fer AP 27 R 2, A st A

A sy oy WA A el
B24-GM/102A
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54. Elovet}tlhat 1f one angle of g triangle is equal to one angle of
= S riangle, and . the sides including these angles are
proportional, then the two triangles are similar. 3

21 TR Q@ W 961 fa$em @1 et o 1 Frse <
e 9 ¢ CWWWWW
CTR (FITCIDI 9101 91 AT STl 2w, cors faws 11 77 |

4T I @ I @3 faprem @7l @ o g9l fgrem @@l @I
S T 9RO (@ISR oom T e e =, oz fags i

e |

PrEE @em 2 9k AR s Hymi A | e S et
TR G THE TR S G SR SETmR SEATsET S, el
FRETATH AT He@ S| ,

7% T P @ H PR o B % T I % we A i 3
ﬁwmmﬁ,ﬁwﬁmaﬁmﬁﬁﬁgﬁwﬁl

TWIO opposite vertices of a square are (=1, 2) and (3, 2). Find the

e coordinates of other two vertices. 3
51 2oty Refe TR 1 27 (-1, 2) W% (3, 2). A TRq BR
AT Tfered |
awamﬁﬁ@w@m(—l, 2) &% (8, 2). A MR qida
FAIE (3 T |
mﬁwwﬂwmﬂ(—l, 2) 3R (3, 2). T AW
oty fardray sy e S
Waﬁ%ﬂﬁqﬁﬂsﬁﬁ%%ﬂﬁ(#l, 2) 3 (3, 2) #| 3= A ¥t *
Taawnes w1 ifsre |
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56. Two tangents TP and TQ are drawn to a circle with centre O from
an external point T. Prove that /p TQ = 2/.0PQ.

Ase Ry 71 @1 O FIW 8 TP o TQ Worm =opefes Tl 2751 | 23719
I @ LPTQ = 2/0PQ.

e o T -7 (93 O @8 08 TP = TQ ¥fb

=oPfE DIl 2gaAl | e
T @ LPTQ = 2/0PQ.

=Te0 fa=1 7w 0 fe i SaaRm

TP 3 TQ <1 wifse &rat =g
WIW@W&@TQ=240PQ.

TS TR 0 %7 9w w TP s TQ =1 =ri-Yad i ws | wanfora
ifs T3 ZPTQ =2/0PQ %

57. Th
P

Find the cost of plough

ing the field.
ﬁ%ﬁﬁﬁ'@&l%ﬁﬂw
AR RS R IS W TR I

RBGAE: CET © 5,280 B =g

250 .mcﬂr@mﬁf\@aeﬁiﬁmomﬁmmmw
AR A R T - N

o A -
T

T RIS e W N
B24~—GM/102A
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58. In a solid cylinder of height 12 cm and radius 5 cm, @ conical h(}l(:}is
made. If the height and radius of the cone are Sam¢ as tbat 0 1'de
cylinder, then find the total surface area of the remaining solid.

19 cm 1 % 5 em TR o iy oS BT TE 7
aﬁmﬁ?ﬁﬂi’ﬂlﬂﬁﬂ@ﬁmmwmdmﬁﬂﬂﬁﬁwm,
(508 SRS (oI6] THOR il Tferea |

12 cm TSl @2 5 cm JIPTHRMAE aﬁw@@m'ﬁﬂ'@ﬁﬂ_ﬂﬁﬁﬁ
mﬁwmwﬁwmwmd@mﬁﬁm«ﬂ@@,w
SAE e B0 PP CFaFe (7 P |
12cmaﬁmm5cmu’@m1ﬁﬁqﬁﬁnmwﬁtﬁﬂﬁmﬂmﬁm
m’mwngﬁdﬂﬁsﬁmuﬁa’mmﬁﬁﬁ@m, 3fsc] HATHT
o e ST T farg weteEt T |
12cm§ﬁ@3ﬂi5cmﬁmaﬁ@ﬁaﬁaﬁﬁﬁ§u@ﬁm@m
mwnaﬁﬁ@?ﬁiﬁéaﬁtﬁm%ﬁ%w%‘,ﬁmaﬁmm

59. Find the median of the following data which give the marks out of
50, obtained by 100 students in a test :

29 28 |33 | 42|38 | 43 | 25
2824152 e

e frar e 50 77 5O T 100 Ry oy b8y wy ficw |

25

20

%CWGWWIOOWWWW%Wm@mqm -
cro) zgge | e A A B

33
are 4 99 42 | 38 | 49 Ex
24 | 16 ] 2
BIcad 1l ) e -
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Wel )

mmmmﬁwmammowwrﬁwﬁﬁ
g g S| I 9 -

D7 7 20 | 29
w6 | 28

Tr=fafas wfwel # 50 0 % wF o § 1oowa‘iésm=iaxasﬁqnq%|
eI J1d HIFM

——

6 T 20 | 29 | 28 | 33 | 49 38 | 43 | 25
gﬁﬁm G828 24 | 15 | 9 4 1. 20

Draw a triangle ABC with sides BCi— 7 cm. /B = 45°, /A =105°.
Then construct g triangle whose sides are é
corresponding sjeg of AABC.

BCZ’?CD’I, LB-___450

times the

BC =7 cm, B < 45

,4A=105°Wwﬁﬁ§ﬁABCﬁmmﬂa
“‘ﬁ"@?ﬁ‘ﬁiﬁm 4
& MBC-&?WﬂW@ﬁ?EQM
3 Aap 45’4A=105°E|@1ﬁABCTﬁT{ﬁ3Tr@TﬁEIW g |
¢ 1 iy 4
ey 4 AR R srEfRam
7

mq&:ﬁw% ’ﬁ“ﬁscznm, /B =45°, ZA =105° & fi
¢ 4
Wmcﬁmwaﬁﬁgu‘-ﬁﬁl
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show
61. If o, B are the zeroes of the polynomial x24bx+6 then

that % is a zero of the polynomial cx 2 —(bz —~2¢c)xt¢C

T xZtbxtc IPMBA G O oo, BB, O cysa &
cx2—(b2—20)x+c3§ﬂmﬁaﬁ*ﬁ7%.

T xitbxtc TXMBI M T oo, BT, SR (NS A
cxz—(bz—ZC)erc?ﬁ‘Wﬁ?laﬁ*ﬁ]%

IR x2 + bx + ¢ FaEEEI G @@’ o, B @, AT BRAA GTAH
R ex? — (b2 —2¢)x + ¢ Tt 998 anfta’sn %—.

aft xtba+c TR F A TFF o, B B, @ awizm Fe
cxz—(b2—2c)x+03§q?:$!@w%_€?l"ﬂl

* % %
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